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Exercice
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pour le 29/03/2017

Exercice 1

On se donne les variables et le constantes suivantes : x ∈ Vare, a ∈ Cnse, P ∈ Var〈e,t〉,
bim ∈ Cns〈e,t〉, R ∈ Var〈e,〈e,t〉〉, Y ∈ Var〈〈e,t〉,t〉.

Calculez le type des expressions suivantes :
1. [R(x)]
2. λP [λx[P (x)](a)]
3. λY [Y (bim)]
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Corrigé

Exercice 1

1. [ R︸︷︷︸
〈e,〈e,t〉〉

( x︸︷︷︸
e

)]

︸ ︷︷ ︸
〈e,t〉

2. λ P︸︷︷︸
〈e,t〉

[λx [ P︸︷︷︸
〈e,t〉

( x︸︷︷︸
e

)]

︸ ︷︷ ︸
t︸ ︷︷ ︸

〈e,t〉

( a︸︷︷︸
e

)]

︸ ︷︷ ︸
t︸ ︷︷ ︸

〈〈e,t〉,t〉

3. λ Y︸︷︷︸
〈〈e,t〉,t〉

[ Y︸︷︷︸
〈〈e,t〉,t〉

(bim︸︷︷︸
〈e,t〉

)]

︸ ︷︷ ︸
t︸ ︷︷ ︸

〈〈〈e,t〉,t〉,t〉
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